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'‘Sago' is obtained from which part of
cycas plant:

(A) Root
(B) Stem
(C) Seed
(D) Fruit

The shape of 'pyramid of biomass' in
forest ecosystem is:

(A) Upright

(B) Inverted

(C) Spindle shaped
(D) None of the above
Total root parasite is:
(A) Orobanche

(B) Raffesia

(C) Striga

(D) Allofthe above
Monoecious plantis:
(A) Cycas

(B) Coccinia

(C) Lagenaria

(D) Trichosanthes
Vascular cryptogam is common name of:
(A) - Pteridophyta

(B) Gymnosperm

(C) Angiosperm

(D) Viruses
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To which family ‘Okra’ belongs:

(A) Cucurbitaceae

(B)
(C)

(D)

Malvaceae
Solanaceae

Fabaceae

Pollination in lotus takes place by;

(A)
(B)
(C)
(D)

Wind
Water

Insect
Bird

In which plant leaf tip is modified into
tendril:

(A)
(B)
(€)

(©)

(A)
(B)
(C)
(8}

Pisum
Bignonia
Gloriosa

Passiflera

21st March is celebrated as

Ozone day
Environment day
Biodiversity day

Forestry day

10. Unicellular alga is:

(A)
(B)
(€)
(D)

Ulothrix
Spirogyra
Volvox

Chilamydomonas
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13.

14.

15.

Kranz anatomy is found in:
(A) C,plants

(B) Cjplants

(C) Cyplants

(D) CAM plants

All fungi are:

(A) Saprophytic

(B) Parasitic

(C) Autotrophs

(D) Heterotrophs
Ray-fungi belongs to:

(A) Ascomycetes

(B) Basidiomycetes

(C? Actinomycetes

(D) Deﬁteromycetes
Red rot of sugarcane is due to:
(A) Colletotrichum

B) Altemaria
(C) Phytophthora
(D) Puccinia
Annual rings are distinct in trees of:
(A) Kolkata
(B) Chennai

(C) Mumbai

(D) Varanasi
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20.

' Living component of xylem is:
(A_) Tracheids
(B) Vessels
(C) Xylem fibres
(D) Xylem parenchyma
Manoxylic wood is found is:
(A) Cycas
(B) Pinus
(C) Mangifera

(D) Cyathea

Photolysis of water takes place by in:

(A) PS-1

(B) ' PS-2

(C) Darkreaction

(D) None of the above
Rhizome of Dryopteris shows:
(A) Protostele

(B) Plectostele

(C) Dictyostele

(D) Siphonostele
Tunica-carpus theory was given by:
(A) Hofmeister

(B) Negeli

(C) Strasburger

(D) Schmidt
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22,

23.

24,

25.

*

The spines of fruits of Trapa are modified
(A) Sepals

(B) Petals

(C) Stamem

(D) Carpel

Which is psendocarp?

(A) Banana

(B) Grape

(C) Apple

(D) Mango

The enzyme 'glucomutase' that catalyses
the conversion of Glucose 1- phosphate
to Glucose 6- phosphate belongs to
class:

(A) Hydrolase

(B) Ligase

(C) Transferase

(D) Protease

For good growth of pollen tube which
elementis required:

(A) Mg

(B) Mn

(C) Co

(D) Ca

The growth hormone responsible for
‘apical dominance'is:

(A) Auxins ,

(B) Gibbereliin

(C) Cytokinins

(D) Abscisic acid
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27.

28.

29.

30.

The only National Park of U.P.is:

(A)
(B)
(©)
(D)

Cell organelle with single membrane is:

(A)
(B)
(C)

(D)

Corbett
Rajaji
Dudhwa
NBRI

Nucleus
Chloroplast
Mitochondria

Spherosomes

In prokaryotes genetic material is:

(D)

Linear DNA with histones
Circular DNA with histones
Linear DNA without histones

Cricular DNA without histones

CO, acceptor in C4 plant is:

(A)
(B)
(C)

(D)

PEP
RUDP
PGA

OAA

Energy transfer for one trophic level to
other in food chainis:

(A)
(B)
(C)
(D)

1%
2%
10%
100%
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32.

33.

34.

35.

A gene pair hides the effect of another
gene. This phenomenon is called:

(A) Epistasis
(B) Mutation

(C) Dominance
(D) Segregation

DNA elements which can switch their
position are called:

(A) Exons

(B) Introns

(C) Cistrons

(D) Transposons

The chemical knives of DNA are:
(A) Ligases

(B) Polymerases

(C) Endonucleases

(D) Transcriptase

In any food chain, trophic level of vulture

(A) Producer

(B) Consumer

(C) Decomposer

(D) Detrivore

Zygotic meiosis take place in:
(A) Selaginella

(B) Spirogyra

(C) Pinus

(D) Brassica
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37.
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39.

40.

Commercial production of cutch (Kattha)
used in betel (Paan) is obtained from
which part of plant;

(A) Seed

(B) Fruit

(C) Flower

(D) Heart wood

Name the famous plant ecologist of
India;

(A) Jagdish Chandra
(B) Lalji Singh

(C) Ramdeva Mishra
(D) K.C.Mehta

Nuclear Membrane disappear during
cell division in:

(A) Metaphase

(B) Anaphase

(C) Early prophase

(D) Late prophase
Transcription mean synthesis of:
(A) DNA

(B) Protein

(C) m-RNA

(D) t-RNA

The micronutrient among these is;
(A) P
(B) 2n
(C) Ca
(D) N
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42.
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Adafoetida is obtained from which part
of plant Ferula:

(A) Root

(B) Stem

(C) Seed

(D) Fruit

Oil as well as fibre is obtained from:
(A) Mustard

(B) Jute

(C) Flax

(D) Sunhemp

Ovule of cycas is:

(A) Unitegmic

(B) Bitegmic

(C) Tritegmic

(D) None of the above

In Funaria stomata are found on:
(A) Leaves

(B) Stem

(C) Archegonia

(D) Capsule

Genetic material of virus causing
Covid-19is:

(A) DNA
(B) RNA
(C) Spikes
(D) Corona
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46.

47.

48.

49

50

Function of Piliin bacteria is:
(A) Locomotion

(B) Adhesion

(C) thrition

(D) Binary fission

Typicas embryo sac of anagiosperm IS
(A) 7 called and 7 nucleate

(B) 8celied and 8 nucleate

(C) 7 called and 8 nucleate

(D) 8celied and 7 nucleate
Tripinnate leaf is found is:

(A) Pea

(B) Kikar

(C) Labermum

(D) Drum stick

Descending imbricat aestivation of
corolla is present in plants of family:

(A) Papilionaceae
(B) Caesalponaceae
(C) Mimoraceae

(D) Graminae

A true moss is

(A) Clubmoss

(B) Bog moss

(C) Inshmoss

(D) &)amSh moss

46.

47.

48

49.

50

(A) 7 P @ 7 FED
(B) Bzﬁtﬁmqﬁem
(C) 7 Rferm @ 8 BED
(D) g Bfrm @ 7 FED
Ay oot it o B
(A) wex #

®) T A

(C) orEaE #

(D) W |

?@ammmmm

(A) e
(B) i
(C) W
(D) A

qrafa® Wy B
(A) F9 H9F

(B) &M HIy

(C) mfrar =g
(D) AfFw g



51.

52,

53.

54.

55.

The function of contractile vacuole in
Amoeba is:

(A) Excretion

(B) Osmoregulation

(C) Digestion

(D) Respiration

Locomoter organ of Amoeba is:
(A) Cilia

(B) Flagella

(C) Pseudopodia

(D) Noneofthese

Leucosoleniais:

(A) Marine & Sedentary
(B) Freshwater & Sedentary
(C) Marine & Free living
(D) Fresthwater & free living

Which one of the following cells in Hydra
are totipotent?

(A) Epithelio-muscular cells
(B) Endothelio-muscular cells
(C) Germecells

(D) Interstitial cells
Powerhouse of cell is:

(A) Mitochondria

(B) Ribosome

(C) Lysosome

(D) Spherosome
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56.

57.

58.

59.

60.

In mammals, Pulmonary aorta originates
from:

(A) RightAtrium

(B)' Right ventricle

(C) LeftAtrium

(D) Leftventricle
Gastro-vascular caviety is found in:
(A) Protozoa

(B) Porifera

(C) Coelenterata

(D) Allofthese

The first vertebra of neck in mammals
is:

(A) Atlas

(B) Axis

(C) Lumber

(D) Sacral

Anemiais:

(A) Lowcountof RBCs
(B) High countof RBCs
(C) Low countof W.BCs
(D) High countof W.B.Cs

Which part in sponges is equivalent to
Anus?

(A) Ostia

(B) Osculum
(C) Prosopyle
(D) Apopyle
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62

85.

Malaria s caused by 8
(A} Protozosn

(8 Helmnth

(C) Baclenum

(D) Vwus

Ptyatin_ found in saliva of mammals
digests

(A} Protein

L]
N

(B, Fat

(C) Starch

(D) Alidfthese

Wil sugar 1s. a3
(A) Maltose

(B) Lactose

(C) Sucose

(D) Mannose

Ribose and Deoxyribose differ with each 64
other at-

(A) 1 carbon

(B} 2 carbon

(C) 3 carbon

(D) 4 carbon

Starch is polymer of -
(A) Glucose

(B) Fruciose

(C) Galactose

(D) Ribose
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66. 'lslots of langerhans' are found in.

67,

68.

69.

08

(A) Liver

“(B)  Pancreas

(C) Kidneys

(D)  Gonads

Glucagon is secreted from:
(A)  Thyroid

(B) Gonads

(C) Adrenal gland

(D) Pancreas

If blood groups of parents is AB & O,
which blood group will not be possible
in their offsprings?

(A) AB&O

(B) A&B

(C) A&O

(D) B&O

Scapula is a bone found in:
(A) Forelimb

(B) Hindlimb

(C) Pelvicgirdle

(D) .Pectoral girdle

Which nitrogen base is found in RNA but
notin DNA: :

(A)  Thymine
(B) Uracil
(C) Adenine

(D) Guanine
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73.

74,

79,

How many cranial nerves are found in
mammals?

(A) 10 pairs

(B) 11 pairs

(C) 12 pairs

(D) 13 pairs

Bile is secreted from:

(A) Liver

(B) Galibladder

(C) Kidney

(D) Stomach

Gastric glands are found in:
(A) Liver

(B) Stomach

(C) Ileum

(D) Colon

Colour blindness is a:

(A) Sexlinked character
(B) Sex limited character
(C) Sexenfluenced character
(D) None of these

Urea synthesis occurs in:
(A) Kidneys

(B) Liver

(C) Stomach

(D) Brain
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76,

4

78.

79.

80.

Genic balance theory of sex

determination was given by.
(A)
(B) Bridgos
(C) Mendel
(D) Morris

Morgan

Deficiency of which vitamin causes
rickets?

(A A
(B) C
@D
(D) E
Androgens are secreted mainly from:
(A)
(B)
(©)
(D)

A colourblind man marries a normal
woman their sons will be:

(A)
(B)
(C)

(D)

Which vitamin is essential for blood
clotting?

A A
(B) C
(¢) D
(D) K

Testes
Ovary
Thyroid

Pancreas

Colourblind
Normal
Carrier

Any of these
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Light bands of muscle fibres are called:
(A) A-bands

(B) I-bands

(C) H-zone

(D) Z-disc

Sexual dimorphism in Ascaris is
established by:

(A) Curved posterior end in male
(B) Curved posterior end in female
(C) Curved anterior end in male
(D) Curved anterior end in female

If a neuron containe one axon and many
dendrites, it is:

(A) Unipolar

(B) Bipolar

(C) Multipolar

(D) None of these

Sarcomere, functional unit of muscle
fibres, is defined as a region between
two successive:

(A) A-bands
(B) I-bands
(C) H-zone
(D) Z-dises

Charles Darwin is known for which of his
theory?

(A) Mutation
(B) Natural selection
(C) Heradity

(D) Inheritance of acquired characters

82.

83.

84.

85.

ot TG B eh el @ e B
(A) A-ufeegi

(B) I-ufeeai

(C) H-ax

(D) Z-g=it

T F a9 faewa =i @ o b
(A) W7 a5 fea AR F

(B) #r=T ¥ g% fma R}

(C) X H I oF A J

(D) =T H &% oF R |

3R T i1l HIRTH ¥ TF TN 3R
IF SFReT AT E Al @ B

(A) TH g

(B) fayd=

(C) =yd™

(D) T @ g &

HrefER Yefiawgelt @ Braers TR, @

T &9 B =0 qRwie B o S .t
BT & & st

(A) A-dfeedt & 7
(B) I-ufeedi % Ay
(C) H-8% 3 geg

(D) Z- Il & qeg

A B o fow frarm 3 @
LR G 1

(A) IaftEea

(B) UHldH TEm

(©) A

(D) ST @&l # i



86.

87.

88.

89.

90.

Cell organelle known as wsuicide bag"
is:

(A) Lysosome

(B) Ribosome

(C) Dictyosome

(D) Liposome
Ribosome found in Prokaryotic cells is:
(A) 50-S

(B) 60-S

(C) 70-S

(D) 80-S

Heredity of which characters shows

- example of multiple allelism:

(A) Length of stem in Pea

(B) Shape of seed in Pea

(C) Colour of seed in Pea

(D) Blood group in Human

Which of the following is a Purine base?
(A) Adenine

(B) Cytosine

(©) Thymine

(D) Uracil

The enzyme which digests starch is:
(A) Pepsin

(B) Trypsin

(C) Amylopsin

(D) Steapsin

86.

87.

88.

89.

90.

(A) qeq & @ FE AR
(B) qex #§ IS H B
(©) ey F A @
(D) e i s

sﬁﬁﬁzﬁﬁv{ﬂ?m%?
(A) @I

(B) WA
(C) arafs

(D) TR
wﬁqﬁmwmm&

(A) Aftes
(B) gftad

800



T Rl e

e

91.

92.

93.

94.

95.

In which form, major part of carbon
dioxide is transported in blood of
mammals?

(A) Dissolved in plasma

(B) As bicarbonate

(C) As carbamino compound
(D) None ofthese

Bowman's capsule, proximal tubule,
distal tubule etc, are parts of:

(A) Nephron

(B) Neuron

(C) Recon

(D) Muton

In heart sino-atrial Node is located in:
(A) RightAtrium

(B) LeftAtrium

(C) Rightventricle

(D) Leftventricle

Number of chromosomes in Human is:
(A) 23

(B) 46

(C) 22

(D) 44

Which one of these is parasite as will as

‘host?

(A) Housefly
(B) Honeybee
(C) Butterfly
(D) Mosquito

91.

92.

93.

94.

95.

T——

TYIREl & wfR #, FEE SEaeEe
% Ay W @ 9Raed e wg #
g 2

(A) o § i wg
(B) @EFEe & &y A
(C) wHefe s & wy F

(D) & § #¥ 7
T B gfew, Frbewr Afe, e
At anfe:

(A) % B
(B) = &
(C) JFM B

(D) e & ‘
& #, Rrr-aifrs s, Rerd aar &
(A) T e

(B) amd arfere

(C) W Frrg &

(D) amd fer &

AMa § TergEr B oge ¥
(A) 23

(B) 46

cy 22

(D) 44

-8 B ol § ge-ay oy
&7

(A) X Tt

(B) wHywera
(C) foraett

(D) #w=sY

800
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a8 Diameter of DNA helex is.

(A 20 1

® 24

97.

08.

Q9.

100

(C) 10 4

(O)y 108 .4

RNA found in Ribosomes |8,
(A)  +RNA

(B) r-RNA

(C) m-RNA

(D) Sn-RNA

Kaziranga National Park is famous for:

(A) Elephanta
(B) Tgers
(C) Lions
(D) Rhinos
Carpus luteum secretes.
(A) Adrenaline
(B) Insulin
(©) Progesterone
(D) Glucagon
_ Study of Heartis called:
(A) Hematology
(B) Cardiology
(C) Nephrology
(D) Neurology

od

a7,

a8,

9.

100.

e

dy e 1, Bl an e B

(A) 20 0

@ 24

©) 104

(hy 108 '

g Tt urn e A are .o, b
(A LRNA

(B) -RNA

(€) m-RNA

(D) Sn-RNA

el ey e e .
A) e @ fen

@ e @ e

(©) N

(0) tegr @ fan

g egfee & wifae 8 (8
(A ugrlE

(B)  gegler

(C) AR

(D) TR

w & ongwd @ e &
A aiash

B) s

(C) S

(D) ®Aeneh

800



101.

102.

103.

104.

105.

Inorganic benzene is:
(A)  B3N3Hg

(B) B,Hg

(C) BH;3NH,4

(D) BH4

The total number of ions in the complex
[Co(NH;)g] Cly, as determined by
conductivity measurements is:

(A) 4
(B) 6
(C) 3
(D) 10

Hybridisation involved in IF;:
(A) spid?

(B) spid?

(C) sp3d

(D) sp3

The most stable carbocation is:
(A) %—13

(B) CH,—%H_.

@
(C) CH,-CH-CH,

&
CH.—C~CH,

(D) CH.

Geometrical isomerism is possible in:
(A) Propene
(B) 1, 2-dimethylcyclopropane
(C) 1-Butene
(D) 2-Butyne

101,

102.

103.

104.

105.

(A)  ByN4Hg
(B) B,Hg
(C) BH;NH,
(D) BH4

HETHAl 199 & MR W GHC A
[Co(NH4)g] Cly, i KA e
2

(A) 4
(B) 6
(C) 3
(D) 10

IF, # Rida g ¥

(A) sp3d?

(B) sp3dd

(C) sp3d

(D) sp?

sftrepe wmrdt g ¥
® Ch,

(B) CH;\-—gH_.

@
(€) CH,~CH-CH,

®
CH,~C-CH,
CH,

fer & & Reed sl wraaar oo @
(A) Ad

(B) 1, 2-SARE wFFANIA

(C) -7

(D) 2-sarEA

(D)



106.

107.

108.

109.

110.

e of which one of the
nzene nucleus

electrophilic

The presenc
following groups on be
activates it towards

substitution:
(A) -CN

(B) -CHO
(C) -COOR
(D) -OCOR

Which of the following can act both as a
Bronsted acid and a Bronsted base:

(A) Na,CO4

(B) OH~

(C) HCO5~

(D) NH,*

Joulg-Thomson coefficient for an ideal
gas is:

(A) Zero

(B) Infinite

(C) Positive

(D) Negative

When an atom or Molecule in its
activated state induces a photochemical
reaction, the process is called:

(A) Fluoresence

(B) Phosphoresence
(C) Photo-cond uctivity
(D) Photo-sensitisation

Which electronic configuration will show
the lowest ionization potential:

A) 1s’

(B) 1s22s22p3
(C) 1s22522p®3s’
(D) 1s22s22p®3s?

W)wﬁ@mwm%qﬁreﬁm

g o &

(A) —CN

(B) -CHO
(c) -COOR
(D) -OCOR

107,ﬁ1={if@rﬁ=f-marm%3mm@3
mﬁhmﬂmmﬁ:

(A) NayCOjy
(B) OH"
(C) HCO5
(D) NHg*

108.@41331%%1%1?@—&%@%%:

A
(B) 9T
(C) ©IHH
(D) FOIHS
100, o @ Afm g @ o fel
eI~ YT StffERaT @ Jguifed HLl
S & 98 WA deard &
(A) wferdiied
(B) wHEIE

(C)  SeBTT-Teraal
(D) SEAN-GIEHTT
110, -1 o famam feras e
frg wefata o
A) 1s!
(B) 1s22s22p?
(C) 1s22522pB3s’
(D) 1s22s22p63s2
800



111.

112

113.

114

15

Ethane molecule is formed by the
following type of hybndisation

A sp?

B sp?

(C) sp¥d

(D) sp

Picric acid has

(A) One COOH group
(8) Two COOH group

(C) One OH group and one COOH
group

(D) Three NO, and one OH group

Which one of the foliowing compound 1S
most acidic.

Phenol
p-bromophenol

(C) p-nitrophenol

(D) m-nitrophenol
Teflon s

(A) Polywinyl chionde

(B) Polytetrafiuoro ethylene
(C) Polychioroprene

(D) Polystyrene

How many Mole of a gas will have 6x107"
molecules

00
01
05
10

(A)
(8)

(A)
(B)
(€
(D)

m

112

13

114

115

ader or @ Py et e & A
ara den B

A sp?
8) sp?
(C) spid
(DY sp

mmﬂmﬂ:
% COOH HifE

(B) & COOH &wqp

(A)

(C) Wk OH aa1 0% COOH e

(D) # NO, o1 0% OH Hie

fy dftepl & A B @ aed afs
st B

(D) Wereha

Pt e @ feet st A 6x1021 3oy Bt
(A) 001

(B) 01

(C) 05

(D) 10



R

1168 The entropy change in & spontaneous

T e e e BN E TR 22 T R R T . o
i e e T R L

Process is

(A) Zero

{B) Positive
(C) Negative

(D) Abnormal
117. Dipole moment is found in.

(A) CO,
® H,0

(C)
(O

CS,
None

118 The undt of radioactivity is.

(A)
8)
(€)
O

119 The oxidation number of oxygen in F,0

s
(A)

(8)
(C)
(0)

Candela
Fermi
Cune

Angstrom

-1
+1
-2
+2

120 Graphite is soft because

(A}

(B)

(C)
(O

Carbon atom s Sp? hybridised
and has three-dimensional

structure

Carbon atom is Sp? hybridized
and has sheet like structure

Carbon atom is in ground state

Carbon atom is Sp hybndised and
forms a linear chain

(20

116 e i B ard w0
ofrada & ¥
CYNR
(B) AT
(C) WOIETH
(D) STGHHI

117, R omyet qra o b
(A) CO,%
B) H,0%

8) it

€ wgh
(D) TS
119 F,oﬂmﬁmm&:

A) -1
(B) +1
(C) -2
(D) +2

120 AEgz A @ B ity
(A) @l qey Spd Hafta ¥ aw o
fafamy wfveen B
(B) Wil qen) Sp? wHefta B o IEA
Hea a1 wdifa B
(C) ®d qrar] g sraeen # ¥
(D) rd qrar] Sp wwfra B oht 0F
Yora sfugen g B
800
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121.

122.

123.

124.

125.

In the  nuclear reaction,

3 L' +gn' =2, He* + x 'x' represents:
(A) Neutron
(B)
(©)
(D) «a -particle

p-particle

Proton

The quantum numbers for an electron in
2p orbital are:

Ay n=2,I=2
B) n=21=1
(C) n=2,1=0
(D) n=1,1=2

(
(

The atomic number of an element is 32..

In the extended form of periodic table it
belong to:

(A) s-block

(B) p-block

(C) d-block

(D) f-block

The geometry of SiCl, molecule is:
(A) Planetriangle

(B) Tetrahedral

(C) Pyramidal

(D) Square planar

Which of the following is the strongest
acid:

(A) CICH,COOH

(B) CICH,CH,COOH
(C) CICH,CH,CH,COOH
(D) CH,COOH

12%.

122.

123.

124.

125.

i iR
3Li7+0n‘——>3-)He4+x § oy weRid
a2

(A) A
(B) p-F7T

(C) e
(D) @-H7

2p Ferh aTet FhelT gRaR & frg e
gemet 3 9 &

(A) n=2,1=2

(B) n=2,I=1

(©) n=2,1=0

(D) n=1,1=2

Th T H G HA 32 B uftafda
et qelt & 3o T @

(A) s-@g q

(B) p-&w @

(C) d-@vg |

(D) f-wvg |

SiCl, o @ sifafy #:

(A) gweel g

(B) wIEHHA
(C) il

(D) T AHEE

Frfafad & geeam o B
(A) CICH,COOH

(B) CICH,CH,COOH
(C) CICH,CH,CH,COOH
(D) CH,COOH




126.

121,

128.

129.

130.

Which one of the following compound is
most reactive towards electrophile

nitration:
(A)
(B)
(©)
(D)

Organic compound 'A' on ozonolysis
gives one molecule of fomaldehyde. The
compound ‘A'is:

Toluene
Benzene
Benzoic acid

Nitrobenzene

(A) 2-Methylpropene
(B) Propene

(©)
(D) 2-Butene

1-Butene

The oxidation state of nickel in Ni(CO)4
is:

(A) +2

(B) +4

(C) +

(D) ©

Producer gas contain:

(A) CO+H,

(B) CO+N,

(C) CO,+H,

(D) CO,+CH,

The absolute configuration of a molecule
changes during the reaction:
(A) SN

(B) SN2

(C) Free radical substitution
(D) SE?

126.

127,

128.

129.

130.

e & & - A QTN TRy
3 ot wad o Fndi B

(A) 2-Af ardE

(B) HdH

(C) 1=

(D) 2-=gH

Ni(CO), ¥ Frda @l STeRiIHLT STaw
z
(A) +2

(B) +4

(C) +1

(D) 0
fregaT g & e &
(A) CO+H,

(B) CO+N,

(C) CO,+H,

(D)

form arfwferar & d fomedt otp & Fden
fomarg ®§ oRads & o B, 98 &

(A) SN

(B) SN2

(C) Tl gaish HferedmaH

(D) SEZ2
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131.

1282,

133.

134.

135.

For which of the following, units of rate

of reaction and rate constant are
identical:

(A) Firstorder reaction
(B) Zero order reaction
(C)
(D)

Amongst the following, a pair
representing tautomerism is:

(A)
(B)

Second order reaction

Third order reaction

CH3CH,CN and CH,CH,NC
CH3CH,CHO and CH,COCH,
(C) CH3COCH; and CH,=C(OH)CH,
(D) (CH3);CHand CH,CH,CH,CH,

Which one of the following compound is
optically active:

(A) 1-propanol
(B) 1-butanol
(C) 2-chlorobutane

(D) 4-hydroxy heptane

In a nuclear reactor graphite is used to:
(A)
(B)

Initiate the nuclear fission reaction
Enhance the energy of slow
neutrons

(C) Moderate the velocity of released

neutrons

(D) Propagate the chain reaction of

nuclear fission

Among the following gases, the deadly
air pollutant gas to affect the
oxyhaemoglobin (HbO,) is:

(A) CO,

(B) 8O,

(C) CO

(D) NO,

131.

132.

133.

134.

135.

Frfofas § @ Reed g sl X
B IHE g R B X RETE B
IHE TH 99 &

(A) "am Fife stk

(B). = Hife arfwfshan

(C) fadm sife arffern

(D) e Fife arfwfsrar

B & § aomaadr 3w &

(A) CH4CH,CN and CH;CH,NC

(B) CH4CH,CHO and CH;COCH,
(C) CH;COCH; and CH,=C(OH)CHj

(D) (CHs);CH and CH,CH,CH,CH,

o At & @ Be-ar At T
qfg 2

(A) 1-SRT

(B)

TG et & AwEe & IwET B B

(A) i fagees sifufear & ooy
FH 3 fog

(B) W& gMi H el ggM D fiw

(C) T™F gl & I A WT FA B
fera

(D) tueh fargoess it 2w arfvfear
FH A TWH B o

frffafea Tt & @ gromrd ag-sges
| & S STRAEARAEE (HbO,) W 5@
STt &, 98 &

(A) CO,

(B) SO,

(C) CO

(D) NO;,



136. The effective atomic numbel (EAN) of
jron in Fe(CO)s I8
(A 26 (B) 31
(C) 33 (D) 36
137. The highest number of Moleculé would
be in:
(A) 289 of Co
(C) 469 of C,H sOH
(D) 369 of H,O
138. In liquids the molecules at the surface:
(A) have greater energy than those in
the bulk
(B) have lesser energy than those in
the bulk
(C) have same energy than those in
the bulk
(D) are smaller in sizé than those in the

139. A process is S

bulk
pontaneous at the

temperature, when:

(A)
(B)
(C)
(D)

140. Ostwald-dilution formu

1S:

(©
(D)

AH > Ound AS <V
AH < 0and AS > 0
AH =0 and AS =0

AH <0 and AS =0
la for KCl solution

None

139.@‘%@121%%#%@

137. gyt

138.&’%%‘!@6{“%‘3@3%
el

(A) AH> 0and AS <0
(B) AH< 0and AS >0
(C) - AH = Ound AS =0
(D) AH <Oand AS=0

140. KCIW%WWW@%




141, The rate of chemisorption:
(A) Decrease with increase of pressure
(B) Isindependent of pPressure

(C) Is maximum at one atmospheric
pressure

(D) Increase with increage of pressure

142. The number of 3-centric 2-electron bond
in BoHg:

(A) One
(B) Four
(C) Two
(D) Three

143. Outof HF, HCI, HBr, and HI which one s
strongest acid in aqueous solution:

(A) HF
(B) HCI
(C) HBr
(D) HI
144. Gypsum is a salt of:
(A) Cobalt
(B) Nickel
(C) Barium
(D) Calcium

(1) B,H,

(i) H,O,/OH
above reaction x is:
(A) CH,CH,CHO
(B) CH:;—CIH—CH3
OH
(C) CH,~-CH-CH,

> (x) in the

145. CH,CH=CH,

(D) CH4CH,CH,OH

141, Tamfas srfgior 4 ax
A) @ &t gfe & aa wed B
(B) a1 gy fsty w1t weeh B

(C) s agrzediy &g v aifuee el
[

(D) @@ &t gfs & ary agdr B

142. ByHg # 3-3fe 2-gaegt et 41 wem
Bt
(A) %
(B) =w
(C) a
(D) =
143. HF, HCI, HBr wd HI # ¥ #9 el
foerm % gaerem ap ¥
(A) HF
(B) HCI
(C) HBr

(D) HI
144. fSrem o=t @1 e @

(A)  FiEeE

(B) ffepa

(C) 3w

(D) dfeaan

145. CH,CH=CH,

1) B,H,
DM, __,
(i) H,0,/OH
SR Sl A x ®
(A) CH4CH,CHO
(B) CHy~CH-CH,

OH
(C) CH,~CH-CH,

o

(D) CH,CH,CH,OH

[3:1_-] 800



substance 1S

146, Half-life of a radioactive ® o Mass will

140 days. What fraction ©
be leftin 560 days:

|-

(B)

o 3
147. Real gases obey the ideal gas laws at:
(A) Lowpressureandhigh temperature
(B) High pressureand low temperaturre
(C) Lowpressureand low temperature
(D) Highpressure and high temperature

148. Tyndall effect in a colloidal solution is due
to:

(A)
(8)

Reflection of light

Presence of electrically charged
medium

(C)
(D)

149. The constant 'a' in Vander Waal's
equation will be maximum in:

(A)
(B)
(C)
(D)

~ 150. When the temperature is increased the
surface tension of liquids:

Scattering of light
Absorption of light

Helium
Hydrogen
O)Eygen

Ammonia

(A) Remains unchanged
(B)

(C) Decreases

Increases

(D) Increases only when the rige i
temperature is more than 25°¢ %

(37

146.

147.

148.

o e @ S 9 140

g—f;%jéo Al & T feperar wfepy
digr @ @
(A % ! !’
s o
© 716 4

- aregt T fadt & g

(A)
Jem @@ aan f gt

Py arg e feT @ T

ﬁmwaﬁﬁﬂw
o # fevsa A 4

(B)
(C)
(D)
el el
F &

(A) T H TEAT
(B) foga omafer meaw A1 gufedfd

- (C) WY B S

149.

150.

(D) TSN T STALOT

qeT ared LT 7 feries ' arfaddd
T+ B

(A) Eifes &

(B) emEgeE #

(C) SR #

(D)  armifwar %

g @ i 41
g T % o B, @zt B TP

A sitafa wear 3
(B)
(C) =& 3

D) T Tz & o

an # gfig 25°C
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